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failopt9=0. failoptold9=0
cavopt9=0, at fdin1.f

ncycle==0 ?
at fdin1.f

failopt9=1
stime9=time

cummulative varialbes=0
read debris ejection data
call stx_mel
at fdirst.f

LPME start &&
failopt9==0 ?
at fdirst.f

ncycle=0
ncycle=ncycle+1
time=time+DT
at melcor

failopt9=2
averaging debris data
 -fueld,fuelv,fuelt

time9=time
read debris ejection data
call stx_mel
at fdicon.f

melcor

failopt9==1?
at fdicon.f

failopt9==2 ? 
||

(failopt9==0 
&& 

failoptold9==0)
?

(failopt9=1&&
failoptold9=0) 
?

file(stxmodule.out) open
failoptold9=1
debris 

cavopt9=1 ?

cavity water data  store
to waterd,watert,watert
cavopt9=2

time9-stime9>
5.sec

store debris ejection data 
to cummulative variables

call stx_ipl.f 
explosion results return 
back from stx_ipl.f

print explosion result

return

stx_mel startmelcor start

mecor

melcor

melcor

melcor

melcor

call stx_ipl

table.dat open

set number of each 
parameter

read each parameter's 
value coresponding to 
the set number

compare the passed data 
from stx_mel 

to max.&min. value of 
above parameter's value

within the max. 
& min value

calculate interpolation 
coefficient with 
parameter's value and 
passed data point

calculate the explosion 
results with interpolation 
coefficients and look-up 
table explosion data

return explosion 
results
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